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384.047  Digitale Systeme Übung – Lösungen 

Weiterführende Übungen 1 

Schaltnetz 1 
a 0 1 0 1 0 1 0 1 
b 0 0 1 1 0 0 1 1 
c 0 0 0 0 1 1 1 1 
x 1 0 1 0 1 0 1 0 
y 0 0 1 1 1 1 1 1 
f 1 1 0 1 0 1 0 1 

 

)&&()&&()&&()&&()&&( cbacbacbacbacbaf ∨∨∨∨=  

Schaltnetz 2 
a 0 1 0 1 0 1 0 1 0 1 0 1 0 1 0 1 
b 0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1 
c 0 0 0 0 1 1 1 1 0 0 0 0 1 1 1 1 
d 0 0 0 0 0 0 0 0 1 1 1 1 1 1 1 1 
u 0 0 0 1 0 0 0 1 0 0 0 1 0 0 0 1 
x 1 0 1 0 1 0 1 0 1 0 1 0 1 0 1 0 
w 0 0 0 1 1 1 1 1 0 0 0 1 1 1 1 1 
y 0 0 0 0 1 1 1 1 0 0 0 0 1 1 1 1 
f 0 0 0 0 0 0 0 0 0 0 0 0 1 0 1 0 
 

)&&&()&&&( dcbadcbaf ∨=  

KV-Diagramme 1 
)&&()&&()&&()&()&(1 dbacbadcbdcdbf ∨∨∨∨=  

Alternative: )&&()&&()&&()&()&(1 cbacbadcbdcdbf ∨∨∨∨=  

)&&()&()&(2 cbacadbf ∨∨=  

)&()&(3 dcacbf ∨∨=  

)&&&()&&()&&()&&(4 dcbadbadcadbaf ∨∨∨=  

KV-Diagramme 2 
)&(1 cbaf ∨=  

)&()&(2 cbcbf ∨=  

)&()&(3 cbbaf ∨=  

cbf ∨=4  
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